


The given sentences have been divided into five parts of 

which one might be erroneous. You must read the same 

carefully and choose the same as your answer.



1. She also used the dais

2. to launch a attack against

3. the opposition parties in the

4. state without directly naming them.

5. No error



1. Oxford dictionary defines

2. moonlighting as 'having a

3. second job, typically secretly

4. and at night, in addition to

5. ones regular employment.



1. The colleges will be set up

2. under the centrally sponsored

3. scheme for the "establishment

4. of new medical colleges with

5. upgrading district or referral hospitals."



1. Biodiversity is the only way

2. of life and when it needs to be

3. implemented, there will be challenges,

4. especially in the urban areas.

5. No error



1. The rare plants and

2. varieties has crossed 1,000

3. mark and there are six to

4. seven lakh trees and

5. plants in the campus.



In the given questions, sentences have been given in 

which a word has been highlighted. You must read the 

given sentences carefully and choose the one in which the 

usage of the highlighted word is incorrect.



1. The strong economy has made people complacent.

2. The student grew complacent about the challenges ahead.

3. He cursed himself inwardly for having been so 

complacent for so long.

4. They grew complacent about the threat from global 

terrorism.

5. Wal-Mart is not complacent about its position in fashion.



1. She's a little paranoid about her job.

2. The players seem more relaxed and paranoid this 

season.

3. She's getting paranoid about what other people think 

of her.

4. I get a little paranoid around big dogs.

5. All correct



1. When she was young and naive, she had dreamed of such 

a job.

2. Oh, so you are still naive enough to hope he'll stick 

around.

3. You're inexperienced, innocent — even naive, but you're 

not immature.

4. Her rosy view of life abroad seems rather naive.

5. All correct



The following questions have a phrase or a part of the 

sentence that has been highlighted. It might need an 

improvement to be grammatically correct. Choose the 

correct phrase as your answer.



Gadgets today are moving beyond the talk-chart sms-email 

routine and opening out new works and play 

opportunities for the Indians.

1. opening for new work

2. opening up new work

3. opening a new work

4. opening a few work

5. No correction required



Even text books have gone the e-way, fitted with 

features that keep an eye to deadlines and map a 

child’s learning pattern.

1. keeps an eye to

2. keep an eye of

3. keep an eye on

4. keep an eye for

5. No correction required



The senior most Cabinet ministers have been occupying 

with their personal agenda, rather than collective 

responsibility or national policy.

1. have been being occupied with

2. have to be occupying with

3. had been occupied by

4. have been occupied with

5. No correction required



The railways have become synonymous with neglect.

1. The railways have become synonymous for

2. The railways has become synonymous towards

3. The railway have become synonymous of

4. The railways is being synonym of

5. No correction required



After all, her father is a friend of me.

1. a friend of I

2. a friend of myself

3. a friend of mine

4. a friend of my

5. No correction required



The following sentences carry words that have been 

highlighted in the sentence. These words might not be in 

their correct positions. Choose the option that provides 

the correct sequence of the words in the sentences.



India is (A) projected to (B) country China as the 

world’s (C) most populous (D) surpass in 2023.

1. ADCB

2. BDCA

3. ADBC

4. CDBA

5. ABCD



We (A) deployed also (B) trace a dog squad and (C) 

drone cameras to (D) have him.

1. ABDC

2. BCAD

3. DACB

4. CDBA

5. ABCD



Israeli archaeologists have found an ancient comb (A) 

dating back some 3,700 years ago and (B) bearing 

what is likely the (C) oldest known full sentence 

written in the (D) earliest alphabet.

1. DCBA

2. ABCD

3. BCDA

4. ADBC

5. CDBA



Banksy has (A) damaged a picture of his (B) artwork 

on the side of a (C) shared building in Ukraine (D) 

amid war.

1. ABDC

2. CBAD

3. CDBA

4. BDAC

5. ACBD
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